NECKLACE WITH MEDALION

By Dagmar Pezzuto 2017 ©

ABBREVIATIONS

DS = double stitch

R =ring

SR = split ring
Ch =chain

Cl =cluny
+=join

- = picot

Clr =close ring
CTM = continuous thread method

2 shuttles
Thread - Lizbeth n2 80

ROUND 1

R1 =9DS - 3DS. Cir

R2 = 3DS + (R1) 6DS —3DS. Cir

R3 =3DS +(R2) 9DS. CIr

Ch1=15DS +( - R3/R2)

Ch2 = 10DS +- R2/R1)

Ch3 = 15DS + (Base R1)

Ch4 = 4DS - 4DS — 4DS —4DS + ( - R1/R2)
Ch5 = 4DS - 4DS - 4DS + ( - R2/R3)

Ch6 = 4DS - 4DS - 4DS + (Base R3)

Ch7 = 15DS

R4 =3DS -3DS + (32 - Ch6 ) 3DS - 3DS. Cir
R5 = 3DS + (R5) 3DS —3DS —-3DS. Clr

R6 = 3DS + (R5) 3DS —3DS —3DS. Cir
Ch8 = 18DS — 18DS + ( R4/R5/R6)

Ch9 = 15DS

Repeat 4x by joining in the center.

LANYARD

R1 = ( shuttle 1) = 4DS + ( - medallion) 4DS — 4DS - 4DS. Cir
R2 = ( Shuttle 2) = 4DS + ( - medallion ) 4DS —4DS - 4DS. Cir
SR3 = (Shuttle %) = 4DS + (- R1 ) 4DS/4DS + (R2) 4DS. Clr
Cl1 = 17 passes



Do both sides to the desired length.

The finish may be with fasteners to glue, or with a bead and beads as in the sample to tie at
the desired height.




